
SAP ABAP table JGTGPNR {IS-M: Central Business Partner Table}

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

JKTOKD [CHAR (4)]

BEGRU [CHAR (4)]

BERUFSL [CHAR (8)]

GFORM [CHAR (2)]

BRSCH [CHAR (4)]

BRAN1 [CHAR (10)]

BRAN2 [CHAR (10)]

BRAN3 [CHAR (10)]

BRAN4 [CHAR (10)]

BRAN5 [CHAR (10)]

JFAMST [CHAR (1)]

GPHERK [CHAR (2)]

KUNNR [CHAR (10)]

LIFNR [CHAR (10)]

GPKLA1 [CHAR (4)]

GPKLA2 [CHAR (4)]

GPKLA3 [CHAR (4)]

GPKLA4 [CHAR (4)]

GPKLA5 [CHAR (4)]

KATR1 [CHAR (2)]

KATR2 [CHAR (2)]

KATR3 [CHAR (2)]

KATR4 [CHAR (2)]

KATR5 [CHAR (2)]

KATR6 [CHAR (3)]

KATR7 [CHAR (3)]

KATR8 [CHAR (3)]

KATR9 [CHAR (3)]

KATR10 [CHAR (3)]

AUFORG [CHAR (4)]

VERLVKORG [CHAR (4)]

AGEN_GRU [CHAR (1)]

GP_DUB [CHAR (1)]

BON [CHAR (2)]

KLIM_WAERS [CUKY (5)]

RECHZENTNR [CHAR (2)]

WBZZLSCH [CHAR (1)]

ADRNR [CHAR (10)]

ISPCART [NUMC (1)]

JGTSADR

MANDT [CLNT (3)]

ADRNR [CHAR (10)]

 JGTGPNR-ADRNR = JGTSADR-ADRNR 

1..N

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 JGTGPNR-KUNNR = KNA1-KUNNR 

1

{0,1}

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 JGTGPNR-LIFNR = LFA1-LIFNR 

1

{0,1}

T000

MANDT [CLNT (3)]

 JGTGPNR-MANDT = T000-MANDT 

0..N

1

T016

MANDT [CLNT (3)]

BRSCH [CHAR (4)]

 JGTGPNR-BRSCH = T016-BRSCH 

0..N

{0,1}

TBRC

MANDT [CLNT (3)]

BRACO [CHAR (10)]

 JGTGPNR-BRAN1 = TBRC-BRACO 

0..N

{0,1}

 JGTGPNR-BRAN2 = TBRC-BRACO 
0..N

{0,1}

 JGTGPNR-BRAN3 = TBRC-BRACO 
0..N

{0,1}

 JGTGPNR-BRAN4 = TBRC-BRACO 

0..N

{0,1}

 JGTGPNR-BRAN5 = TBRC-BRACO 

0..N

{0,1}

TBRG

MANDT [CLNT (3)]

BROBJ [CHAR (10)]

BRGRU [CHAR (4)]

 JGTGPNR-BEGRU = TBRG-BRGRU 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]
 JGTGPNR-KLIM_WAERS = TCURC-WAERS 0..N

{0,1}

TJG05

MANDT [CLNT (3)]

BERUFSL [CHAR (8)]

 JGTGPNR-BERUFSL = TJG05-BERUFSL 

0..N

{0,1}

TJG37

MANDT [CLNT (3)]

JKTOKD [CHAR (4)]

 JGTGPNR-JKTOKD = TJG37-JKTOKD 

0..N

1

TJG41

MANDT [CLNT (3)]

GPHERK [CHAR (2)]

 JGTGPNR-GPHERK = TJG41-GPHERK 

0..N

{0,1}

TJG45

MANDT [CLNT (3)]

JFAMST [CHAR (1)]

 JGTGPNR-JFAMST = TJG45-JFAMST 
0..N

{0,1}

TJG51

MANDT [CLNT (3)]

GPKLA [CHAR (4)]

 JGTGPNR-GPKLA1 = TJG51-GPKLA 
0..N

{0,1}

TJG53

MANDT [CLNT (3)]

GPKLA2 [CHAR (4)]

 JGTGPNR-GPKLA2 = TJG53-GPKLA2 
0..N

{0,1}

TJG55

MANDT [CLNT (3)]

GPKLA3 [CHAR (4)]
 JGTGPNR-GPKLA3 = TJG55-GPKLA3 0..N

{0,1}

TJG57

MANDT [CLNT (3)]

GPKLA4 [CHAR (4)]

 JGTGPNR-GPKLA4 = TJG57-GPKLA4 
0..N

{0,1}

TJG59

MANDT [CLNT (3)]

GPKLA5 [CHAR (4)]

 JGTGPNR-GPKLA5 = TJG59-GPKLA5 

0..N

{0,1}

TJGJ0

MANDT [CLNT (3)]

DUBIOS [CHAR (1)]

 JGTGPNR-GP_DUB = TJGJ0-DUBIOS 

0..N

1

TJGJ2

MANDT [CLNT (3)]

BONITAET [CHAR (2)]

 JGTGPNR-BON = TJGJ2-BONITAET 

0..N

1

TJGJ4

MANDT [CLNT (3)]

AGEN_GRU [CHAR (1)]

 JGTGPNR-AGEN_GRU = TJGJ4-AGEN_GRU 

0..N

1

TJGR1

MANDT [CLNT (3)]

ISPCART [NUMC (1)]

 JGTGPNR-ISPCART = TJGR1-ISPCART 

0..N

1

TJK42

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 JGTGPNR-WBZZLSCH = TJK42-ZLSCH 

0..N

1

TJKW0

MANDT [CLNT (3)]

RECHZENTNR [CHAR (2)]

 JGTGPNR-RECHZENTNR = TJKW0-RECHZENTNR 

0..N

1

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 JGTGPNR-AUFORG = TVBUR-VKBUR 

0..N

1

TVGF

MANDT [CLNT (3)]

GFORM [CHAR (2)]

 JGTGPNR-GFORM = TVGF-GFORM 

0..N

{0,1}

TVK0

MANDT [CLNT (3)]

KATR10 [CHAR (3)]

 JGTGPNR-KATR10 = TVK0-KATR10 

0..N

{0,1}

TVK1

MANDT [CLNT (3)]

KATR1 [CHAR (2)]

 JGTGPNR-KATR1 = TVK1-KATR1 

0..N

{0,1}

TVK2

MANDT [CLNT (3)]

KATR2 [CHAR (2)]

 JGTGPNR-KATR2 = TVK2-KATR2 

0..N

{0,1}

TVK3

MANDT [CLNT (3)]

KATR3 [CHAR (2)]

 JGTGPNR-KATR3 = TVK3-KATR3 

0..N

{0,1}

TVK4

MANDT [CLNT (3)]

KATR4 [CHAR (2)]

 JGTGPNR-KATR4 = TVK4-KATR4 

0..N

{0,1}

TVK5

MANDT [CLNT (3)]

KATR5 [CHAR (2)]

 JGTGPNR-KATR5 = TVK5-KATR5 

0..N

{0,1}

TVK6

MANDT [CLNT (3)]

KATR6 [CHAR (3)]

 JGTGPNR-KATR6 = TVK6-KATR6 

0..N

{0,1}

TVK7

MANDT [CLNT (3)]

KATR7 [CHAR (3)]

 JGTGPNR-KATR7 = TVK7-KATR7 

0..N

{0,1}

TVK8

MANDT [CLNT (3)]

KATR8 [CHAR (3)]

 JGTGPNR-KATR8 = TVK8-KATR8 

0..N

{0,1}

TVK9

MANDT [CLNT (3)]

KATR9 [CHAR (3)]

 JGTGPNR-KATR9 = TVK9-KATR9 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 JGTGPNR-VERLVKORG = TVKO-VKORG 

0..N

{0,1}


